EARAZROREIERT — 2 N—XBISY —F 20165128138 (X)) 18[E11A&E3H

mﬁmﬁiﬁﬁqgﬁﬁrﬁﬁﬁ C1 ¥7%3mLt ‘ [(XM&] 7 ‘ (eEmml - | & (5 14000 &
[AE£] 17&:240,000 ™ ~ 2#%&:55,000”  33%&:22,000 W  43%&:12,000 M 53 :7,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o RPN > BRERE 129, -9-8- . — REM (&£8)
117]8 :l/\/'j‘f)lf// T4 5%_0 1(2_9)2 11-9-8-4 | 37.6 s (4;4) /J\;;Hi% =
LYo 752 B:anx/430 BEBS
o . EBIFE :29. —-4-3- . — IEEA (EE)
205|5 | RIV—=TFT 5 — R ) 1(12/9@3 iz B8 ’ 3033) R
RN=YI514 B:AL—Xt()>Y (B) #AEIA-FKL—va>@AE77
- ] . — o P
3 2By svayed # 5 56%@ 1.(219>.5 1-1-1-1 | 38.9 2 igz; Ei;ﬁ (#£8)
LiREFa—FTUNF 1 B:IAK—F =7/l L4%5
S - 8 > BERE : 55— — Jertnkty (&%)
417l 9| %AUVTSA4R e8| BB 1(72?:? 5-5-5-3 | 38.6 1 <4+726) L,
L:xA1=d7—2 B:FI-—XFy K E5tae]
. [i[mE} :30. -10-10- . — ABBK (EB)
51111 Y2aTU—2 h=1 ) R R Y e | Eme
LA R=3I2UKk—L BIIVE—XT7LREATELR F—L—- T vy T7—LERE
. T 30, -8-9- 7| = NIEEF (R
6 I—-2>2kF 5 G 5.0 1(13/0@3 8896 | 8.7 ’ tif FEHRF -
L:ALNTyTIE BIAYLFEZT FERS
R - [iN=}bEal : —7-6- — WTFEX (£5)
. BT o7 T 1(.33/%4 7-7-6-7 | 39.1 10 (4_813) W{g g’
L:ARYSFRYT—/ BiHSI)Tr— [iz7 N =
Lo 4t 3 | AEER—E 1:30.5 3-3-4-5 [39.5| — 6 466 | NIIEZEF (1£8)
8 r—72E 2 54.0 (1/2) (+2) KARIE
XL THAANAN B:DLT J—H T p—Lh
B . /&4 : -11-11- — THERE (£8)
9 Ly R¥vq7 4 5 ue 1.(361).6 10-11-11-11| 39.4 11 (&3+()36) K#ﬁ%iﬂ "
L7 R4 Y3y 72 B:d—-IRFY—-7 EvJILy RT7—L4
. S o Elpgal :31. =P . — KEFHX (£8)
10/ 8|11| FA 71> RINLT "7 A53.0 (11 311/29) o9 4 s ?ff) fRERERIE .
LA TATv— B4 TINy o> Bt &
(P it 6 | AR 1:32.4 6-6-7-10 | 41.0| — 7 481 | BIEX (ER)
1118110 WF—1J2HX 54.0 (2 1/2) (-11) HMERS
L:T7ITFNTL2 B)rAzOo-LIib =RE4S
@ 1 — S —EBlIEf
1d—7+— 7,11,4,5,9,10,6,3,1,2,8
2=1—F— 7,11,4,5,9,10,6,3,8,1,2
Gal=5r= 7,11,5,4,9,6,10,8,3,1,2
40—+ — 7,5,9,8,4,3,6,1,11,10,2
[ N3
B OB 8 1,310 714K 5-8 540M % E 5-7 440M 3EHE 5-7-8 1,620H
8 B 8 330M 7-8 480M B & 5-8 2,140H K31 8-5-7 18,800
5 140/ 5-7 260 B H 8-5 6,060
7 150/

ABICOVWTRDTEEERROODE. TR LIV,



